MODEL PRACTICE SET

L Im a ceriain oode language
PRAISE |a writlen as S50UVE
Henwe weilll Live word RUSHED b
wrilien in that code Ianguage 7
(1 LVWIFE () I'VVILIE
(3 UWVHGF (4 ULUVIFE

2. Il DEKENY = 28274 and
FYVAMS= B0E01, ihen NSDBKP
a?

(1) 317468 [2) TI4538
3 TI4863 (4) 713658

3. Il red s called smnge, orunge
In called IWise, Blue is called
green. gree is called blaok and
Februcke b callead o then wihial
s the colour of “coal™?

(1] Green () Brown
13 Black o) Bluie

4  n @ cerimin code language
HARD is wrillen as B-30-2- 16,
How will the word FULL be
writhen In thai code language 7
1] 24-24-42-12
324-26 42-12
(30 20-28-42-12
19 24-34 42-16

B Whal should oome in e place of
epasselion-maark [ in Lhe following
numher serics
L. 3 & 24 %

7 54
3 106 141 87

B H458=144and BEHE = 144,
e BET =7
1y 144 244
(3 240 (40250

Directions [7-8): Head the follos

g dnyfarmndion corefidly and arsoer

Fe piaratinnE gioein below

lal Seven boys- A. B.C. D E F
and O are slanding in a row
Tacing north.

il G &t the left of B and (o the
right of D,

il There s only one boy between
A nml D

Al There are Pwo hiys between D
amdd F who are (o the right ol E.

el There are twn boya between E

amd B

7. Wha s al the extreme right end?
mr 1TV
1A 40

13

RAILWAY ASSISTANT STATION

Who nmong the fallowing s in
the trlddle ?
e
[l
When |s ot the extreme lefl eod?

o
HF

na =}
me 4k A
Find the missing number in the
Tolhoruring Erened =

R
4lala

o o

_m[m ?

inas 12 B0

3 82 14178

Whal should come in the place
af question. mark (7] in Uhe fod:
kewing number serica?

3. 4, 10, 33 136, T

(1) 685 1) &80

3 705 14} 675

Find the misaing betters of the
following leiter aeries -
ah - ¢ - abb -cc - bbe - g
() bocba (20 heaba

9 bocas 4] abera

What should came n ihe place
of question-mark {7 In the -
lowing series ¥

HOR, LNTT, NKV. PIX, 7

L1} RWE {1 ROT »
[ EGR (4] REG

14, Hirww rranmsy insdeprersdent

meaning-
lual words can b formed by the
letvers of the word PUNCTUA-
TION with-out changing the or-
der al letters and using each
leter anly once ?
L1} Qe [ Tem
3] Three 4] Mone of these
Mang] is ihe brother of
Ajay, Ritn s the sister of Manoj,
Sameer |s the brother of Mihir
and Mihir s the nephew of
Vineed. Il Rita s the daughter of
lrother ol Vineet's wife then hiw
Mihdr b related (o Ria 7
11} Brother (3] Uncke
9] Faiher [ None of Lhess

come al {he fourth place 7

(1} Pounder  [2) Poultry
13 Poursdagge (4] Pounsding
Directions (17-18) 1 Reod the bl
lowing venn-dingram corefilly and
nsner e guesion given befo

K-

17. Which letter represcois such
girls whao are athlctes but nob
=l
nrF c
3 o HE

18, Which letter represents such
ahdetes who nee singers bl nol

H:‘;? A

B3 F Mic
Which letter represemia such
girks who are singers bot not

alhletes *
s Hc
Mo MIE

20, Ramesh walked I% km tewards
morth from his alfice. He (umed
ledt mmd wealled 12 km. again
ke turned 19 his lef and wolked
another 19 m. How far is be -

frcan his office 7
(1] 31 kem (25 12 kem
13 7 km 4119 km

Directions (21-22) : b onch of the
Jollonping quaestions, there are B Dems.
O af these tems 15 dyfferent from He
other fousr Fanad the differend iterm in
enich Omse.

a1 (NGILNG [ KMPRL

(3 DFIEN (4] HENPR 2
2, (1)JNS (2 MW
13 LPU 4l EIN
33 Tongue in related o Taste’ o
thie ssume way s Nose” s relst-
ad o g
1) Deal 1) Moise
3] Semell 4] Drasnty
34, Page' la related (o Book” in the

BRIDE WAy s Adom’ |8 relatsih

o
() Compound (2] Molecul:
3] Mixiuere 4} Electron
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an.

a,

A Lrakn eovers A cefain dislanos
m ane hour. If the speed of the
‘tradn is increasesd by 10 k. per
i, e Bong it willl take to cov-
er that distance ¥

11} B0 minutes

{2} 42 minstes

3] 48 minutes

(4} Canmot be determined

How many FI% are there in

1

ar=
2

12 300 12) 400

1 480 14) 440
What will be the H.C.F, of

L 2 =

L 3
" 13 W 15
ﬂiu:-v- =7

2
ma =3
(5 4] None of these
Zomesh and Kemalesh

er draw salary of Rs. 9,000
Karmalesh and Mithi-lesh tngeti-
er drvw salary of Fs. 100000, i
Sithilesh gets Fs. 000 mane than
Kamalesh, whai is the salary
of Somesh 7

11} Fs, 4,700

2] s, 5.300

13 R, 4,300

] Rs. 5,000

Thie average of 5 conseculive
odd members is 15, What is the
walur of the mumber?
L1 R3] 2} 19

mis 415

Ihelr ages will be 68 Whoa is
the present age af Kamesh 7
11} 10 years (2} 15 yenrs

13} 16 years (4] 12 years
The grealest and the smallest
nuratsers formed by digits 0, 1,

in3a7e 12p 3188

13) 3056 [4) Mone of these
An amaunt of money is 1o be
distrfbuted among A D amd ©
I e ratio of 2 :3: 4 IFC
fives Rs. 30 io B and B gives
il of ey, bie b e oA
Uhweny A amed C owilll harve the equal
amourl, Find the total amouni.
(1] Rs. 630 {2} Rs. 360

(3 FAs. 540 (4] Rs, 450°
Chamndan Fusd loept in & bag 135
currency nates in all in the
denominations of Ra. 100 and
Ra. 50. The total amounl was
Rs. 10,000, How many noles
e had in denominations of Rs.

50T

i 2] 65

75 4] 25

A reduction of 3% in the price
of whent enabie & person of iy
25 kg of whest more for Rs
400, What is the price ol wheat
perudntal afler rediction 7
1) Ra. 350 {2 Rs, 360

EXl Ra. 336 {4) R=. 320

In a garden equal numbser of
trees are plamed in each row.
The numbers of reas ol the
mumbers of trees In each ow
are the same. There are B3EE4
trees in Al then Uhe number of
irees in o row will be

{1 38 1) 232

1 228 4] 223

The smalles! number which
‘when atkded bo the nasmbr | 154
miakes i a perfect sguare s
i 122

paid back Rs. 6,200 incloding
the principal and the Inderest
accured., Calon-lale the rale of

the indorest.
{118% (21 7%
[ 141 7.5%

Caleuiate the following expres-
shan
4725 + 1944 + 54

41.

a7,

Msoas 3 60as
[M5065 45015
I meen or 15 women can do a
phece of work in 25 days. then
Mvmmen and 10 women will com:
plede Lhe same wark im

(1) 7elays 2 6 days
[ Sdays (404 days
I an exarminalion 45 stiadenis

wul af B8 siudents seoured less
than 50% marks. The roio of
nurmber of stwdenl who =e-
cured 50% marks or more
marks 1o these who secured

bexes thian P4 marks s
Ma:o o8
56 Hith:5

Omee [ourth of & number sikh-
irncted Trom one thind of e
sanme panmber ghies 12 What
1= e numbier 7

[y L1

[EEL] 14y 144

. bt o esxemiriation 850 boys and

B0 girls appeared. 5008 of the
s Anel A% he ghrls pansed
the exgminnton. Cadoalate the

Tppro-aumaAle perceniage of ex:
nminees, who did not poss 7
1 ET.S 12 58.2
M 5T.a 191 52
A singie discownt equiv-alent 1o
n series of discounts of 200 and
M b :
1 35% )
(KB e 4] 45
2.7 .4
!l"iﬂi -"5"-1 thenx = 7
20 21
ma "0
18 2
@5 5

A 150 metre Inog Lrsim, nunindng
& apeed of 72 km per hour,
crosses a bridge in 18 geconds.
the lengih of Uw bridge is
11} ITSm (2} B0 m

@ isdm M 20m

Hiarh sl bweo wrist watches lor
. S08 ench, on one he guned
1'2% ant on vlher be lest 12%.
Whiat was his proflt ar b ?
(1) Ra. 11 boss

2} Rs. @ loas

[} Mo prafit no loss

14} s E1 profil
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48, A puree containg equal number
of B0 paise and 25 palse coina
totalling & suum of Ra. 75. Cal-
culate the number of each coin.
11125 12} 50
)78 4} 100

BO. A sum of money al sitmple in-

terest doubiles In 10 years. In

o erarry years will i mmount

1o 4 Uimey itsell 7

1) 20 pears. (2] 25 years

(3 30 years 4] 35 years

wmd\nt‘ﬁnfnh-iul'rl:um

kv the amalleat 7

BiL.

5
mg l‘11=
5
&3 W‘:-
mllu:r has provisions
Eurﬂod-rl. after 190 days
800 more soldiers joined the
casnp and the provisions lasted
far 45 days only, how many
men were Lhere in the camp 7
(1) 3500 (2 4000
13} 3800 (4 LTD0
B83. Find the compound inderest on

3
hmmimuﬂ

per annum, i flerest being
enleulated half yeark?

(1} Ra. 316

(2 Ra. 206.25

13 Rs. 318

] Pes. 302,06

The coat price of 10 oranges s
equal Lo the seiling price of @
orangss, What is the percent-

age ¥
]
1=%
g% iom
] 1
1| ‘B-iﬂ 4 Iﬂ-i%
B8, Ifsides of & rectangubar plot are

In the ratio of 3 : 2 and 1 its
Area is B4 s m then the pe-
rimeter of the plot s ;
i24m [2)160m
13 120 m (4 170m
Directioos (38-08) : Al up the
Bk by selecting the right woed fram
the aptions given befoi
B8 He ... the role of the or-
@anisation bn creating emviron-
mental awareness amang the
praple.

(1) commanded
(2} cnmmended

quastions g below tem.

’ A, Onee upon a time, (here
Ived & very old woman.
B, Her farmibouse stood on the
edge of the woods.
C. Her name was Mra. Merry.
E.':lmnml:urmmﬂ-

E. She lived on a leile farm,
way off in the country.

F. She lwed A comiorialile life.
Which of the (ollowing will be
ihe fourth senlence in the para-
graph?

me o

HE L1k

Which of the following will be
the thizd sentence aller fe-ar-
range-menl?

{E =mo

A wma

Which of the (ollowing will be
the sscead senlence aller re-

81

A o
=D i F

Divections (82-88] : Read the jol:
locving passage ond ansuer the ques-
thares giewn belotw,

Piccadiily Cireus was Tull of loneli -
meesa. [1 seethes and echoes with It
To lwe near i, looking doum i, 8 a
discominrting experience. You cannol
feel the pulse of Landan there, though
people expect 10 - To Londo-ners i, s

& madiening absiruction betwesn one
phace and another, and few valuniarly
lnger there, The anly loeals are those
whi live eff the lingerers; the lingsrers

primarily sighisesrs;

8. Piccadilly Clrcus s —
(1] the nume of & circus com-

pany

120 & lonely and resounding old
Buaiding.

N & centrally located aren m
Laondon.

14 & huge heap of ruins.
B The passage Implies thal —
111 some Londoners love 1o
apend thelr time near Pic-
cadilly Circus.
2 no Londoner wanis (o he i
Plceadilly Circus. -
3 Piceadilly Clrous s & hag-
ardouss place.
i Plocadilly Clrouws s a jplace
of vice
84, The lingerers Found b Pieca-dilly
Cireus are matnby.—
(1} the citinens of Landnn
2} sighlacers from prosi-neiad
areas ol Britain
[ peapie who want o show off
4] local idiers.
According 1o this phssage, peo-
ple from outside Lomdon gn to
Poradilly Cireus Décaiise 1 b—

EW full af exciing poople

14} the gaitse of Lencdan

For ihose who live near Picca-
difly Cireus, it is—

1} a wery nolsy place:

12} erowded with people

(3 an ohstruction bo trailic

4] an awlkaand structure
Directlons (67-08] : in et of the

ther wovred frem che geiver options unhich
oo substile the expresson appror

priately.

&7. One who has & compulsive ide-
alfe 1o sbeal.

11} Pilkerer  [2) Poacher

[3) Plagiarisi  [4) Kieptomman ac
A person wiho remounces the
world and practises sell disci-
pline In order (o attadn saba-
ton. '

1] Anibquarian

12} Ascetic

13) Seeptic

4] Devetes

A person whio decs nol beliove
In the existenoe of God.

1] Theis [2) Heretic

3l Atheist (4] Fanatic
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Drections (TO-T4) : Read eoch of
the follauing senserioes fo finrd oud {f
thatre is ang errerin i, The error |fangy
el bw diw e peird g it The numiber of
ther! et 15 bhe armsasee | ilere &5 na
T A s i bl L. N ermor.

Ti.

T

Ll

Due 1o certaln nevitalde cie-
cumstancss | 1)/ the schedubed
programene had o be postponed
incefinite {21/ bur the memlbors
eralel st be informed [}/ Mo
errar j4).

&Iﬂuﬂ.hm“qpqq-
sible effort (1)) to provide beag
Enedlities (21 and perscaal at-
tenthan for ench child. (317 Na

enror [4)

. The customers scarcely had

enough money 1o piy | 1)/ o tho

cashier (31 il Uhe cash conter,
1314 Mo error (4]
Thee villager told (114 us where

waa the lemple and cven bed
12/ un to the spot. (31 S0 er-
or [4),

If vou are poed (1) peaple,
youl will b (217 treated well by
hemachees. ¥/ Mo error jd).
Directions (TB-77) 1 Chonse

wword urhich is most rereryy the same in
irwerering o1 dfe pooed gigen i bold,

™

vy e bl
TH. Dasshing
14 glarimg
2] umscrupulous
N umexpeanble
) umnaticenble
TE. Repress
{Hmhitei 12| iberate
13 curty (44 guasll
B0

2D

India, an May L3, 2000, -
leased its frst gas
amisaione Invenlory since
1884 showing a__ per cent [nll
in the emisswns nu:nsity of the
GDH from Lhat date wll 2007,
nypia A

131 30 41 36

The firsi inedian joller bo-qualily
for the ULS. Open is —

[1§dery Milkha Singh

[2) Arjun Atwal

13 Suresh Ragdan

14} 5. Ramesh

‘Wha lewended Lthe Steam Laco-
migiive P

(1) Edison (X Sievensen
(3RO Tata (4] Alexander

In lneilin "Teacher's Day” & ob-
served every year on

V] Movember 15

2 May L5

(%) September 5

4] Mone of Lhese

Who s knerwe ns the “Sculptor
al the Constitution of Inclia 7
[1) Rajendra Prasad

2 V. V. Ginl

[ B, A Ambedinr

[4) Dr. & Hadha Krishnan
‘Wt 18 the approcdmade pepe-
lation of Indin as per lasl cen-
A [l eroren) 7

1) 1o 284

R ] (%191

The targesl copper procducing
enumiey in the werld is

1] Ehile %] Fusssiln

4 South Africa

14 China

Who was the Governor Oener -
al of Indin when the
hnlmhtﬂpuﬂem?m
1] Lord Adilee

12 Lord Falkiand

(W Lowd Mounthatten

4] None af these

When wns the Indinn Nalional
Congress borm 7

(1) 1860 ) 1665

[N 1865 4 1A8a
Britair’s first posd-war coalition
government, with ___ ns Prime

&l

BCG Vaccine bs umed for pre-
venLion of which diseas: in chil-
tren

[1] Policrmpee s

12} Tuberculinms.

[ Cholera

[4) None qf these

Wiha wrote © Alice in Wonder
L™ ¥

1] Jahn Snow

{2l Shakespeare

{3 Lewils Carrold

4] Oecar Wilde

‘Wha s the author of ‘Mer Elya-
wan Kovitoyan” 7

{1 Mnr=himha Raa

2 Aal Behar Vijpayves

£3 Viswnnalh Progap Singh

[4) Mone ol sese

in india, the shortest day oc-
curs an

{1} Drecemibyer |

2k dmnusney 1

13) December 21

4 Decembeer 34

BSoaith pole is located in the con-
tiner of

1) Adrica [ Aumiradin

13 Gireendand (4) Antasriicn
The almmspheric pressure at
any place fs measured by

1) Altimcter

{3 Préssuremeter

(% Barometer

(4} Themsameter

. one af the oldest prbvale
aectior hanks [n e country, n
May 2000, merged with the
largesi private seclor bank, (C1-
Cl Bank,

1] Bank of Rsjasthan

(2} St Bank of Ursdis

13} Banik of Baroda

141 Punjal Mational Bank
Wikeh coumiry accounis loe the
world's argest share of raw
weonl exporis?

11] Russia 3 Aasiralia

13} Mew Zealaund

4] LiSA

wlumiinge Henin, on May 2, 5010,
won the Stutigan WTA lourma-
meni., heating Samantha Slosur
of __ in the final.

11 Mexice {20 Sweden

M Avstralia (4} Britain

100 The Lerm Lei’ s associnbed with

the game of
{0 Crickel  [Z] Badminton
6 Bridge (4] Billiards
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101, Which Europenn river provides

b et eleelopeed sned the maost

irepsheely wsed inland waler-

way in Europe?

|1} Rihine |2) Thanes

13 Danube (4} Volga

The great dairying reglons

of the world He in the wel areas

of the Cool Temperate Region

[1] because of the avalla: bility
of pood qualily grass in
Uhese

103,

2} because the ool elimate
helps in maintaining milk

quality
4 because catile can be kept
In the open the year round
otyeinting Lise need Tor busid-
ing coslly shelters
) all of the alwiic
103 Which of the following ports is
ol locased o the Wesiern const
al indin?
(kandia (&) Marmagaa
15 Marymadere [4] Tubicerin
104, The places Abwaye. Koyna, and
Karba have
(11 tharmal sations
[} ndwidnium dustries
13 ol refimesies
1) hwrlrn miadions
105, Whe was the palitical g of
MLE. Ganddha?
L) Dubsliheal Maoref
i3 Cerpal Krshirin Cokihale
£3) Lala Lajpat Rl
4] Lehrariya Tilak
108, Which of the following is a land-
locked &lake?
(1] Orfissa [2h Cagjarsl
135 Fasmalaka ) Bihar
107, Which of the foflowing crops
requires witer - kogging?
(jCotton (2 Rice
3 DIl Seeds (4] Tea
108 Ean haumbes ooour due 1o
{1) gacial movemenis
13 volcande eruplions
1] land slides
A avadanches
108 The line dermonrarling Uhe hownd
ary between india and Pakislan
Is
[1} MacMohan Line
[2) Rawbcdiffe Line
(3} Drurand Line
14} 3G Paraliel
118, Helucharan Mahapalra 8 asso-
caled wiih

(1) Ddissl dance
2) Himdhsstani Musie fwocal]

13 the mridangam
14} Kuchipus dance
111 The Raja Chefhialy committe was
appointed 1o leak into
(1) menetary relforms
2] tax refoema

112 The squivalent of & general in
the army 1s
(1) Commadane Ia Lhe Mawy
2} General in the Navy
[3) Adr Marshal in the Adr Force
4} Admiral in the Navy

118 Social actvist ___. on May 13,
2010, received the Miwano
Peace Prize for 2010 for her

%] Eka Bhart

The auihor of ‘Arms and Lthe
Man' s

1} Aldams Huxbey

Bernard Shaw

114,

118 The largest revenue In Indla ks
obtained fram
(1) radberays (2] evise duty
|3 sales tax (4] direct texes
117, The SFOA has the chjsctive of
141 mdbrancing long term foans to
indhastry

Z welling consumer goods with
price control

(3 markeling agricuttsral pro-
dhoe

41 implementing projects of
erap hushardry
114 What s the new name of Rho-
deain?
{1 Namibka (2} Zambia
13 Salisbury (4) Zimbabwe
118, The main cause of the lran-Trag
oconilict was
1) Vg tamoe: ety
[H Iran's treatment of the former
Shan
[3) Shall-el-Araly walerways

2] Bank
[4) Mane of these
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